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Slur (Code 5) Parameters

P3=55 P6=73  P3=81 P6=112 P3=123 P6=152  P3=164 P6=190
Horizontal 2 . : ;
position
Pi=3 4 5 6 7 8 910 11 P53 4 5 6 7 8 9 10 11
Left vertical P5 Right vertical
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Curvature P7=0 0.5 1 2 -0.5 1 -2 P7=0 05 1 2 05 - 2
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P8=1,2 (endings) P8=3 (tuplet brackets)
P8=1 P8=2 P8=3 P8=0.001 0.4 0.25 0.5 0.75 0.9
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Slur type P8=0 -1 2 -3 -4 5 6 -7 -8 9
or Slur e e i 0 5 i 0 i e s s s s s s 5 s e B e e
Slur offset dist FE_FAE = T = [ — [ — [ — [ — [ —
(LtoL) (CtoC) | (R+toL-) | (R++toL) | (RtoR) (CtoR) (Rto C) (CtoL) (LtoC) (LtoR)
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usage |1 —e -t -+t
centeréd  tie tie from Stem-side b ' ' ¢
slur dotted note slur
P9=0 2 3
v I \/ -\__/ -\/" . T~
Flatening Pe=0 05 ! 2 3
or P8=3:
. P9=0 1 2 3 4 -10 P8=1: 1 1 2. 3. 4.
Ending/Tuplet —3— —1— —2—m —3— —4— o -
PO=0 1 2 3 4 a4 2
number
L3 3 e s e o 4 P8=2: 2. T 2. 3 & T T
P9=0 A 2 3 4 -6
P10=0 0.1 0.3 0.7 0.9
T _—
Cen termg Fio;o_‘ -3 E. .—0 é4— iss - .ﬁ 3. P8=1:
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P12 Mid-slurs P13 Thickness
Pl2s0 —
S 1 4
P12=1 125 ———~_ 08 —
P22 — 15 _— 06 —
P12=-1 P7=+ s — 04—
g — 02
P12=-1 P7=- 3 — 01—
P16 Right broken slur P17 Left broken slur Vertical
Pl4=0 _————_ Horizontal PISO number offset
Numbers 025 T number offset 025 —
P16=l 05 T~ P17=0 /-3\ 0.5 — P18=0 /2\ 73 N\ ,_2_|
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